


TV

Assembly screws:

4

4

4

4

4

4

1

M8X50

D8

(6mm)

(D10 rubber)

(5mm)

(4mm)

M8X25

M6X22

M4X20

D6

D5

M8X14

1

2

3

1 2 3

4

5
6

4 5

6

7

A

K

L

M

N

1

1

1

1

B

C

D

E

F

G

H

I

J

4

4

4

8

1

1

1

1

1

2

H

I

L

C

E

J

Ax4

K

M

C

D

F

N

Bx4
The tray is a whole. When 
you want to install the tray 
on the outer tube, you must 
remove the two screws and 
nuts. After installing the tray 
on the outer tube, screw on 
the screws and nuts.


